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If 3.01 x 102 molecules are removed from
98 mg of H,SO,, then number of moles of
H,SO, left are

A 01x102%mol B 0.5x10"3 mol

O 1.66x103mol (D) 995x 102 mol

Question Id : 1

The correct set of quantum number for the
unpaired electrons of chlorine atom is

A 1 B 1
@ 2,0,0,+= ® 2,1,-1,+=

2 2
C 1 D 1
© 3,1,1,i§ ® S,G,G,ii

Question Id : 2

The electronegativities of C, N, Si and P are in
the order of
A P<Si<C<N

(©) Si<P<C<N

B) Si<P<N<C
M P<Si<N<C

Questionld : 3
Which of the following structure of a molecule
1s expected to have three bond pairs and one
lone pair of electrons ?
(A) Tetrahedral

(O) Pyramidal

(B) Trigonal Planar
(D) Octahedral

Question Id : 4

Which of the following is the correct electron
dot structure of N, 0 molecule ?

A .. B .. _
) N=N=0O: ®) :Nzl‘i]—_(_):
C .. .. D

© N=N=0 D) N_N=0

Question|d: 5

98 2 M0 H,S80, &0z 3.01x 107 eeaonex)y
B CSATON  YUPOIVT  BOOOF ST FT[Ieed
BRCSRTE '

(A) 0.1x1072 IR (B) 051073 HS

(©) 1.66x1073 52 (D) 995y 102 RS

Question|d: 1

TREOT  TTRREVIIYTOT oIy B ST
awo&swse xo&%ﬁ@o 33 aeéo:irmdagd
A 1 B 1
@) 2,0,0,+= ®) 2,1,-1,+—=

2 2

1 D 1
© 3,1,1, £ - ®) 3,0,0,£ =

2 2

QuestionId: 2

C, N, Sizo2 Pn¢ &mﬁcg)séeojaéomo 33
gmw@pagd

(A)P<Si<C<N B) Si<P<N<C

(©)Si<P<C<N D) P<Si<N<C

Question|d: 3

83 FYBOR TUWESNYY NP RO 230303073
T 20T eﬁojaorl NS @mﬁe;s%
TROQTWT[ITIOT aaegxgm.

(A) @3@3@%@@6 (B30T 0D OW)

(B) 8, AReT0e* FemoT® (F3VoD &,50%)
(C) PTRVTS* (LTIRTF3)
(D) WREBS (S, 530058 )

Question|d : 4

83 BBOTINVE CINT  N,0 3 ROOIRE LT

1508 Ce3 RRZ,NG
A) .. (B) oL
N=N=0: :NEN—_Q:
D) ..
© N=N=0 ® N-N=0

Question|d: 5
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6.

The pressure of real gases is less than that of
ideal gas because of
(A) Intermolecular attraction

(B) Finite size of particles
(O) Increase in the number of collisions

(D) Increase in the kinetic energy of the
molecules

QuestionId : 6

A reaction hasboth AH and AS - ve. The rate

of reaction
(A) increases with increase in temperature

(B) increases with decrease in temperature

(©) remains
temperature

unaffected by change in

(D) cannot be predicted for change in
temperature

QuestionId : 7

The equilibrium constant for the reaction
Nz(gj + GZ{g] = ZNG{EJ 1s 4 x10™* at

2000K. In presence of a catalyst the

equilibrium 1is attained ten times faster.
Therefore the equilibrium constant in presence

of catalyst of 2000 K is
(A) 40 x 10 (B) 4 x 1072
© 4 x 107 D) 4 x 10

QuestionId: 8
'Q." is useful in
predicting the direction of the reaction. Which

of the following is incorrect ?
(A IfQ. > K, the reverse reaction is

The reaction quotient

favoured

®) IfQ., < K, the forward reaction is
favoured

© If Q.= K_,no reaction occur

M) If Q.> K_,forward reaction is favoured

Question|d: 9

DORT  WIONY WEBH BTWIF  WIONY ?Ngzéz%éos
FRTOOTTDNTLO FOTED
(A) ©OZTIT XT3 (B) BNy TOWZ Meg,

(C) PRETAT F035,00 TFg
(D) SO WOT SFOD YT TUY

Question|d : 6

20T 8,000, AH =03 AS admgsmenn

IT3T 3,000 e

(A) emawé ﬁzsow nferc] émwrb@m

(B) enoawé FRWOCINTOZ ézsaw R0

(©) eruawéoja wéa%x OIRR)TIC wammw:@* JpolelX!
BRR[OY,

(D) Uoo‘%aéoi)
mc‘%mm@@qﬁ

55@?5@0(5 QPFOT0

Question|d: 7

2000K c0§, Nz{g]+02{g] = ZNG(g] 3,03003

Re0R Jepleiy) 4 x 107%  <ADP.
3, omasdrmab eVTO3ReNITIIN [OZIDIOWIAL
*mq@osm %3& wé,sa =enwoN TRORTT,

3, omwdrﬁwaﬁra %fﬁraocé éa 3,000 TR
"’mm%oja NUOO%@

A 40 x 10 B) 4 x 1072

©O 4 x 1073 D) 4 x 10

Question|d: 8

TRR0RRT 8,0500D BT, §,0I0 enow Q. cwon
@drmwmm @%o@ omw efojaom 3—md ?
A Q.” K C:Eﬁ@éaﬁ oom&) 3, Oi) 5650533@533

(B) Qc < Kc @ﬂC;DO” mm&@@ 3%)050 ST
© Q.7 K BNTT 0TI 8,00 TBOIN[IY,
(])) Qc > Kc Qﬁﬂd@d mm%&) _%)030 5@0533@53

Question|d: 9
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10.

1.

12.

13.

3CI0,qy—> CIO~ + 2Cl™ is an example of

(A) Oxidation reaction (B) Reduction reaction
(O) Disproportionation reaction

(D) Decomposition reaction

QuestionId : 10

In the manufacture of hydrogen from water gas
(CO + H,), which of the following is correct

statement ?
(A) CO 1s oxidized to CO, with steam in the

presence of a catalyst followed by

absorption of CQ, in alkali.

B) CO and

difference in their densities.

H, are separated based on

(O) Hydrogen is isolated by diffusion.
(D) H, is removed by occlusion with pd.

Plaster of Paris is represented as
(A caso,-:H,0 ® CaSoO, -H,0
2

(© CaS0,-2H,0 (@ (CaSo,

QuestionId : 12
Addition of mineral acid to an aqueous
solution of Borax, the following compound is
formed
(A) Boron hydride

(C) Meta boric acid

(B) Orthoboric acid
(D) Pyroboric acid

QuestionId: 13

10.

1.

12.

13.

3CI0,;, —
LVTRBOTBCINNT 2
(A) YVBHF €3 3,05 (B) STBRF D 8,00
(C) ©RRO LOIRAT QP 3,00
(D) DTS 3,090

CIO~ + 2CI~ o3»s &0

Question Id : 10
SDIND (CO+ Hy) QoB HEpena=)

QUPOROTON B TYFOW  CINW 85,000
eﬁ?gsojamrb@da?
(A) 3OSHRITET FHODOOT T30  CO T

SUIAE R YVOLRT Co, BT, TNTY, LeTOTRIT.

@) CO3 H, nesy, wNY T0oB,Zo0YS
3,393 STVOOT BT ESHWTBOT

(C) BTRCRITY, WATED 3,0500000T3 T3, e3FWBITD

D) H, 3D, pd DY, SAOTRTETIRVAIT T3
T8, LSWTOTO

Question Id : 11

TRRAT" ST 9, 07T SEVRRE,
(A caso, - % H,0 ® C(CaS0, -H,0

(© CaS0, 2H,0 () CaSo,

Question Id : 12

WeToE' S WA T39,55698 SDVLITYII), HEOATIN
GVOEIDMIE FOOT0TEY)
(A) BreTom® %Cijcse (B) TR 0T &3y,

(C) DOER-UWRCOT &, (D) FTRCIRCOT’ &),

QuestionId : 13
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14.

15.

16.

17.

18.

Identify the correct statement in the following :
(A) n-butane and isobutane are functional
1somers

(B) Dimethyl ether and ethanol are chain
isomers

(O) Propan-1-ol and propan-2-ol are position
isomers

(D) Ethanoic acid and methyl methanoate are
position isomers

Question Id : 14

In which of the following, homolytic bond
fission takes place ?
(A) Alkaline hydrolysis of ethyl chloride

(B) Addition of HBr to double bond
(O) Free radical chlorination of methane

(D) Nitration of Benzene
QuestionId : 15

For the preparation of Alkanes, aqueous
solution of sodium or potassium salt of
carboxylic acid is subjected to

(A) Hydrolysis (B) Oxidation

(O) Hydrogenation (D) Electrolysis

QuestionId: 16

Which one of the following is not a common
component of photo-chemical smog ?
(A) Ozone (B) Acrolein

(O) Peroxy acetyl nitrate
(D) Chloro flouro carbons

QuestionId : 17

Which of the following crystal has unit cell
suchthat a # b #canda = g =y #90°?

(A) K,Cr,0, (B) NaNO,

(© KNO, ®) K,SO,

Question|d: 18

14.

15.

16.

17.

18.

BOOIRT 539,85, 030, OTOER.
(A) N-WREET® 0B APE - WA WEITIHY MOFIIT
TERONTLD

(B) z:éé)oc%@e =tlated GNP APIVCNGY  ROIP
DRONNSD

(C) Tp,ee-1-o0l 3B p,eTe* -2 -0l ML DI
TIRONTIEO '

(D) SIFIROWT &), T WFS® 0T
ned m@é TRIRONANLD

Question Id : 14

BYFORE 03003 3,0000008) FIIEFTT LVOEINITITO ?
(A) BB BRETRT T3, 200 WK

(B) (Eoﬁwocp’ét5 HBr 3 Jee @
(C) [T Uae@ﬁ@e Q0T QFEAT BREOVETTD
(D) B30T F3,80d

Question Id : 15

sy  IoIN0TODY,  FTRFIdE wWT
TRCROV0 WP TPLRSOV0  OTHBT Ao
ToB/ERWI), RRYROZT.

(A) BO QPR (B) QUSRFED

(C) TTR, CRETTED

(D) @mesdas QNTRS (ST @x

_.)
) CRED)

[3e)

Question Id : 16

QDD OIRFR B, - TRRODIE BRREO

(Photo Chemical Smog) & 2,00 mm%
PUTDING 7
(A) LEne® (B) R T

(C) T SIS 3 ees
(D) BRLTRE FRIME TRFT’

Question Id : 17

3503 CINT REET PUB SRS S SYIONI
Zeo0T.a £ b # o a £ B £y = 90

A) K,Cr,0, (B) NaNO,

(© KNO, ®) K,S0,

Question|d: 18
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19.

20.

21.

22.

The correct statement regarding defect in

solids is

(A) Frenkel defect is usually favoured by a very
small difference in the sizes of cations and
anions.

(B) Frenkel defect 1s a dislocation defect.

(O) Trapping of proton in the lattice leads to
the formation of F-centers.

(D) Schottky defect has no effect on the
physical properties of solids.
QuestionId : 19

In a face centred cubic arrangement of A and B
atoms in which ‘A’ atoms are at the corners of
the unit cell and ‘B’ atoms are at the face
centers. One of the ‘A’ atom is missing from
one corner in unit cell. The simplest formula of
compound is

A) A B,, (B) A B,

(© AB, ®) A,B,

Question Id : 20

Which of the following aqueous solution has
highest freezing point ?
(A) 0.1 molal AL, (SO,),

(B) 0.1 molal BaCl,

(O 0.1 molal AlICI, (D)0.1 molal NH,CI

Question Id : 21

The Vant Hoff’s factor ‘i’ accounts for
(A) extent of solubility of solute

(B) extent of dissociation of solute
(O) extent of dissolution of solute

(D) extent of mobility of solute

Question Id : 22

19.

20.

21.

22.

FING  SRIIN xowozsm\zjoé 0053 539,85, 050
ROOIRNG ?
(A) T, EFEOINT® T YTWCINT 1Y Mg,TY, ©8
3693339 AOTIN 3,05 TR, T8 GVOLINOTITO
3 3 Q F)
(B) F,03¢° SR,TI030 o‘bm@@eﬁdm SR, TZOTRNT

(C) TR, CLITIH WPOTBY, WORROERN F 50T, nsd
SVOEINRIZT

(D) A IR,TT PITHDNT 1P TOOOFLNG 0ed
oim@a"’e w@—amwm 08 amm@@@

Question Id : 19

A T B TOSREONTI), TR0 B0DFE0R,3
PYEONY, A TOeeONY  SoRSNYYe3 B
FEAMTD  S0DFEOT,THCTD ATTR.  FT  TeedT
%WOTD TR Feaxy) FRTOCTNTT B3 FO0INTFT 90
AR3,%Y

A) A,B,,
©)

(B) A,B,
AB, ™) A,B,

Question Id : 20

33 FFBOT O3 WO T, 33635y @98 ﬁ?ﬁé@ FeTTED
WOT TRODT 2

(A) 0.1 BRCTOSE Al, {:804)3
B) 0.1 RRCTOSE BaCl,

©) 0.1 JReceF AICIE
(D) 0.1 BRCTOSE NH,C!

Questiond 21
339, 08%° — T MOFER0E T (‘acﬁés BOWOTTT

(A) @ESQSCS QBCCNZCR &0

(B) T9,5,T IS0 Tyeed

(C) T,3,T DOeTZOD T,[e9

(D) T[T ROTSCVZOD TIED

Question Id : 22
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23.

24.

25.

When the pure solvent diffuses out of the
solution  through the semi-permeable
membrane then the process is called
(A) Osmosis (B) Reverse osmosis
(O) Sorption (D) Dialysis

Question Id : 23

The standard reduction potential at 298 K for
the following half cell reaction
Inity +2e —>ZIngE° =- 0.762V
Criyy + 3e——> Cry E° = 0.740V
2Hjy +2e ——>Hy E° = 0.0V
Fz{g] + 2e —}ZFan_-] E° = 287V

Which of the following is strongest reducing
agent ?

(A) ZIng B) Cre

© Hz{g] D) Fz{g]

Question Id : 24

NaClO; 1is
NaClO, according to the

By passing electric current,

converted into

following equation
NaClO, + H,0 — NaClO, + H,

How many moles of NaCl0, will be formed

when three Faradays of charge is passed
through NaCl0, ?

(A) 0.75
© 1.5

B) 1.0
M) 3.0

Question Id : 25

23.

24.

25.

39, 3E000T 30T 1933695y SRYRT (Semipermeable
membrane) @ROT TTITTED TROTVT 3%)0330535%
&Gﬁ@%{ﬁd)

(A) TTFTED 8,03 (B) é)dac?bwmxdsa 3,09
(C) BReReD (D) T0NRTOT

Question Id : 23

298 K 3Q 3980% wirdneg 8,00nY OF ©mER3
QNPRNF &N

an;”q] + 2e —ZIn E° =-0.762V

Crigy + 3e——> Cry E° = 0.740V

ZHE;qJ +2¢e —> Hy, E° = 0.0V

Fz{g] + 2Ze —>2Fan_-] E° = 287V
VRINTE) CTREYTI €98 T2 LSTIRE EITDOOTNNG ?
A) ZH(S] (B) CI‘(S]

© H,y D) F,y

Question Id : 24

20,330, T B FYHOR TWOHIF 300003
NaClO, ® NaClO, c3mh TomSFRweEm.

NaClO; + H,0 —— NaClO, + H,
BT F)TRBCDTY, W) NaClO; =owews
ToorTRN AR NaCl0, 3 =0, Speef v

B) 1.0
D) 3.0

Question Id : 25

Page: 7



26.

27.

28.

In the electrolysis of aqueous sodium chloride
solution, which of the half cell reaction will
occur at anode ?

(A) Naf,, + e"—— Nagy
E? = —2.71volts

(B) ZHEG{I]_} {}2+ 4H++ de”
E__, = 1.23volts

cell —
© HE;q] + e —— %Hz

E .., = 0.00volts

cell
®) Clgg—>ch+e

E’ .. = 1.36volts

cell

Question Id : 26
Which of the following statement is in
accordance with the Arrhenius equation ?
(A) Rate of a reaction increases with increase
in temperature

(B) Rate of a reaction increases with decrease
in activation energy

(O) Rate constant decreases exponentially with
increase in temperature

(D) Rate of reaction does not change with
increase in activation energy

Question Id : 27

Which of the following statement is incorrect ?
(A) The rate law for any reaction cannot be
determined experimentally

(B) Complex reactions have fractional order.

© Biomolecular reactions involve

simultaneous collision between two species

(D) Molecularity is only

elementary reaction.

applicable for

Question Id : 28

26.

27.

28.

AReBo00 3REE  wIeod 09,3363

DD, QWRBARTTRATIN S FRFIQ,  IBOI0I
WREBREI 8,00
(A) Naf,) + e —— Nag) E° = -2.71

(B) ZHZG{I:] e 02+ 4H++ da~
E: P

cell

= 1.23
(C) H':+Elq] + E_—> %Hz
El = 0.00 3,

(D) Clag — % Cly +e”
E . = 1363,

cell
Question Id : 26

O3 FYTOB m?j@jesojao ET/EF VOIS 5@3@665@5;

EITONIEITONT 2

(A) waméojoa% ﬁ?,;fomrﬁ TTo00JT  3,035Een
ﬁmwrb@m

(B) TeDBOm TzoIn BRHOIRTOZ ¢ 0IRTen
BB

©) eruwmé dasaadwoé ReR 8,0339085y BTZFECCTN
BRWIOTNTOTHT

(D) TEOTTE JBOZ  TUPVLTOLO  TAIODLIB
g,odnena @oed  cdnsyue  TOFOIBI, 0830
TRBDRY,

Question Id : 27

B3 BYFOTWRNTQ, 0373 299,83, e NI ?

(A) ReNNS oDWBI),  0IRTE T, 03REANTOT
FOW) ROV,

(B) RO8eeaF 8,00M%D ©3088 SNea §,00MFoNS

(C) BOIREIF 8,030, DT Fears IT FTToIB

ROFEIVNTO wWIOMOTYT
SEIFIOI0 T, PT

@%ojamrb@m

golner =g,

(D)

Question Id : 28
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29.

30.

31.

32.

33.

34.

For a reaction %A—:» 2B rate of

disappearance of A is related to rate of
appearance of B by the expression

@ -d[a] _ d[B] ® -d[A]_ 1 d[B]

dt dt dt 4 dt
© -d[a] 1d[B] ® -d[a] d[B]
dte 2 dt de ~ dt

Question Id : 29

The process which is responsible for the
formation of delta at a place where rivers
meets the sea is

(A) Coagulation (B) Colloid formation

(O) Emulsification (D) Peptization
Hydrogenation of vegetable oils in presence of
finely divided Nickel as catalyst. The reaction
1s

(A) Heterogeneous catalysis
(B) Homogeneous catalysis

(O) Enzyme catalysed reaction
(D) Liquid catalysed reaction

Which of the following is not a favourable
condition for physical adsorption ?
(A) High temperature (B) High pressure

(O) Higher critical temperature of adsorbate
(D) Low temperature

Question Id : 32

The metal extracted by leaching with a cyanide
is

A) Al (B) Ag

© Cu (D) Na

Question Id : 33

Extraction of chlorine from brine solution is
based on
(A) Oxidation

(C) Reduction

(B) Chlorination
(D) Acidification

Question Id : 34

29.

30.

31.

32.

33.

34.

% A—> 2B Sm00R8 §,05H00E. A 0 TTI0I0

FRWICTIRMONFTOI0 B ToT300 émurbéﬁoiraoaﬁ 3
TCTTEIR0TI FOLWOPHTWTITO

@ -d[A] _, d[B] ® -d[A] 1 d[g]

dt dt dt 4 dt
© -d[a] 1 d[B] ® -d[A] d[B]
dte 2 dt dt  dt

Question Id : 29

SO FIIT,BIY, FETOTY, YOOI FBERNPN 3
,3,030 Fo0ONG.
(A) ﬁd%ﬁ&é}b@%

(©) @5&@2}50’2@

(B) BOC® s00E3MO0T
(D) ﬁe&esdw

Question Id : 30
AR, %@r{eémq SOLVTT PRUILTIYTORN I8
DNBTFT  ATIOND0T  HTR, CWICTORIRT. 84

BYBOT 3,031 2,000 YVTIITBTH
(A) S30ECOD 8, TNTTES

(B) Re30&C0D 8,030 TF S
©) %S%ﬁ@ﬁ@ﬁﬁmow 3,00NRTES
(D) B,=TRTS §,030TF S

Question Id : 31
T WOTRCRBN B3 TITOR CINT  AWOPIOID
RONEITINTOR D), ?
(A) BT TOTRR (B) BUS L33
(C) ©R3RRER TS Zodn
TROQTIYT '

(D) 3R STRPT

SOTRINI

Question Id : 32

odns dRtmRI, FFE Y CRROT WHIBO0T
NI T RVAITIT

(A) Al (B) Ag
(©) Cu (D) Na

Question Id : 33
BT TN BROFT  BOIRORIDTOXD
YVOEIMOINFOR &, 8,0300320 SHORT.

(A) em?%sas-‘sa (B) BRLOVETTED

(C) ST/RFD (D) SEQTTD

Question Id : 34
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35.

36.

37.

38.

39.

Which of the following element forms p_ -p,

bond with itself ?
AN B) P
(©) Se D) Te

Question Id : 35

Which one of the following metallic oxide
exhibit amphoteric nature ?

(A) Ca0 (B) Na,0

© Ba0 D) AL0,

Question Id : 36

Select wrong chemical reaction among the
following :

(A)MnO, + 4HCl —
Cl, + 2H,0

MnCL,+

(B) 8NH, + 3Cl,— 6NH,Cl +N,
(© 2NaOH+ Cl,—> 2NaCl+ H,+ O,

(D)2Ca(0H), +
CaCl, + 2H,0

2Cl,—> Ca(0Cl), +

Question Id : 37
Which one of the following noble gas has an
unusual property of diffusing through the
materials such as rubber, glass or plastic ?
(A) Ne (B) Ar
(O Kr (D) He

Question Id : 38
The magnetic nature of elements depends on
the presence of unpaired electrons. Identify the
configuration of transition elements which

shows highest magnetic moment ?
(A) 3d7 (B) 343

© 3d° (D) 3d?

Question Id : 39

35.

36.

37.

38.

39.

T3 FYTOTW O300%8 OB TTeIvE0Ned @Sﬁra;;ﬁ
Py D woqswabq TROTWYE) ?

AN ®) P

(©) Se (D) Te

Question Id : 35

83 FYBOTBINYY, oINPT &8 @ 835908
OB IR, T TIFAES 2

(A) Ca0 (B) Na,0

© Ba0 D) ALO0,

Question Id : 36

FINSINYS, IS  TTODIB 80000

rOTOSR.
(AMnO, + 4HCl — MnCl,* CI, + 2H,0

(B) 8NH, + 3Cl,—> 6NH,Cl +N,
(© 2NaOH+ Cl,— 2NaCl + H,+ O,

D)2Ca(OH), +
CaCl, + 2H,0

2Cl,—> Cca(oCl), *

Question Id : 37

ST - F° ©Fme DRFI0TT JINT TR

QRTTD TROTVR0BD @mﬁf@?ﬁé @i sadaig<
TROQT 3 ¢x AV

(A) Ne (B) Ar

© Kr (D) He

Question Id : 38

O3ONY  FT080N @ﬁf@ﬁ% BRNTYTORD @ojaaré
mﬁ’%?szsmf ;309350335% OTWOOWRT. B3 FFNT 0379
R0, PIBINT ST @se DTFRY B HT Fo0S0D
z@mgé TROOT

(A) 3d7 (B) 34°

© 34° (D) 34?

Question Id : 39
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40.

41.

42.

43.

Which of the following statement is wrong

regarding Lanthanoids ?

(A)  Ln(IIl) compounds
colourless.

are  generally

(B) Ln(IIT) compounds are predominantly ionic
in character.

(O The ionic size of Ln(IIl) ions decreases
with increasing atomic number.

(D) Ln(III) hydroxides are mainly basic in
nature.

Question Id : 40

Square planar complex of the type Myyp;

(where A, B, X and L are unidentate ligands)
shows following set of isomers
(A) Two cis and one trans

(B) Two trans and one cis
(O) Two cis and two trans
(D) Three cis and one trans

Question Id : 41

According to crystal field theory, the M- L
bond in a complex is
(A) purely ionic (B) purely covalent

(O) purely co-ordinate (D) partially covalent

Question Id : 42

The co-ordination number and the oxidation
state of the element ‘M’ in the complex
[M(en), (C,0,)] NO, {where (en) is ethan-1,

2 — diamine} are respectively

(A) 6 and 3 (B) 6 and 2
(©) 4 and 2 D) 4 and 3

Question Id : 43

40.

41.

42.

43.

emdocﬁfg}zﬁsﬁ@ﬁ xowoc;’wé%oé 3 FIIBo® OTnw

mesgjzsom @&&mmﬂ&@@@q(é@) ?

(A) mmszsmﬁLn(HI)xooﬁ@ﬁ% wsamwabq
TROQTORNY,

(B) Ln(III) B0c3o0znsh émwﬁ E903TT @ﬁf@ﬁ@é@(
TROQTOIRN

(o) mmszgmﬂ Ln (III) e03R3ne 0303 \_%)zsd@
TTIEND 50@5d émwdoé BRWICIINMOTYTIO

(D)ég(lggj%@)i ST TN T2 000D OFEINTI)
0

Question Id : 40

Mpxp; ®RTOODH FXOBL PF Toserary) B8
FENT0S RBIONMTY TROOT (A, B, X020 L
QBT30S @eméowe NeaNs)

(A) DT AFF 303 80T &,
(B) TR é@sﬁ)m@ 20T AFE
(C) TR AFF 3B DT &,
(D) STV AT T 2,070 &,
Question Id : 41
Rees T3, ATOITIOD HOseedr IQTWEIM - L
205 ‘
(A) ROTPEIF LOINAT®

(B) ROTPEF 5%5@@& oW
(C) ROTPEIF FZIJOWe (D) wTe FBS 03

Question Id : 42

[M(en), (C,04)] NO, 02 Zodecar T M 02
PN 553?250336 ;309323 EAVICH) emédarsa %%5%
3,300 [en = S55e*-1, 2 -F R
(A) 6 3022 3 (B) 6 3032

(C) 4 =022 (D) 4 5223

Question Id : 43
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44. Toluene reacts with halogen in presence of

45.

46.

47.

Iron (IIT) chloride giving ortho and para halo
compounds. The reaction is
(A) Electrophilic elimination reaction

(B) Electrophilic substitution reaction
(O) Free radical addition reaction

(D) Nucleophilic substitution reaction
Question Id : 44
In the following sequence of reactions
CH,Br BN o HO
B LiA/H 4 C

The end product C is
(A) Acetone

(O) Acetaldehyde

(B) Methane
(D) Ethyl Alcohol

Question Id : 45

Which of the following order is true regarding
the acidic nature of phenol ?
(A) Phenol > O-cresol > O-nitrophenol

(B) O-cresol < phenol < O-nitrophenol
(O) phenol < O-cresol > O-nitrophenol
(D) phenol < O-cresol < O-nitrophenol

Question Id : 46

Which of the following reagent cannot be used
to oxidize primary alcohols to aldehydes ?
(A) Cr0, in anhydrous medium

(B) KMnO, in acidic medium

(O) Pyridinium chloro chromate
(D) Heating in presence of Cu at 573 K

Question Id : 47

44.

45.

46.

47.

T (Il) BRT's  VTREDY, &R’
T, CRERITWRODN  [EFR SHEREE TR T,0°
meseirae BOOKITII, 083 VRT3,

(A) ST, TT0S T[S 8,08

(B) VT, T0T08 &5T3ed 3,000
(C) BT T, BFS'S FOTOT 3,00
(D) IR,3£037T08 T3S 8,050

Question Id : 44

21 39803 57, 8,000DE, 108 BB (C)

CHBr— KN, o HO |
(A) e528300° (B) QTR
©) @f%m@%@%@e (D) é%%@s eﬁeirasemeje

Question Id : 45

00w BYFOR LT 1Y 0FE0  EReEmodn,
WRYNY LS00 ©FEIT WRONOETINGS | BOIRNT ?
(A) T > O-FZoer > O—@éﬂ@)e&meﬁ

(B) O-T < YT < O-FER, epTo*
(C) T < O-FT* > O-FEdR, QT
(D) YT < O-FT < O-FER, e QT

Question Id : 46

OIS FFTOR 8,03RFITT?R), YVTOIRENR T2, TFeT
SERLTIOTYI), SOT[TIN YVFAFHLO T DY, ?
(A) OBFOOD o, (B) BAFD KMnQ,

(C) $ORION0 BReTe Br,a0ees*
(D) 573 K 3¢ Cu Z000mt 520003000

Question Id : 47
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48.

49.

50.

Cannizzaro’s reaction is an example of auto

oxidation

(A) It is a typical reaction of aliphatic
aldehyde.

(B) It 1s a reaction answered only by aromatic
aldehydes.

(O) It 1s a reaction answered by all aldehydes.

(D) It 1s a reaction answered by only aldehydes
containing o -hydrogen.

Lower members of aliphatic carboxylic acid
are soluble in water. This is due to
(A) Formation of hydrogen bonds with water.

(B) Van der-Waals interaction with water
molecules.

(C) Water is non electrolyte
(D) Due to London forces

Question Id : 49

The correct order of increasing basic nature for
the bases NH,, CH;NH, and (CH,),NH in

aqueous solutions
(A) CH,NH, < NH; < (CH;),NH

(B) (CH;),NH< NH,< CH,NH,
(© NH,< CH,NH,< (CH,),NH
D) CH,NH,< (CH;),NH< NH,

Question Id : 50

48.

49.

50.

59, e9TRE §,030030 B30 YVFRF €9 8,03003 2.0
Gp¥eplesiers-t
(A) S5 8,030030 @@mﬁw# e:ac‘.’gﬁcseﬁ@:)ﬁ TOWORRT

(B) O, STREERWEF «ORENH S 30N
R 0BROTITO

(C) PR, BOTT* iEd B3 8,037 R ONATS

(D) o~ JTERTITIRY, TRoDWB WIT[T T [N,
83 8,051 A oDRITH

2

Question Id : 48

eﬁ@—a e35° amr%@sﬁ 33, 3,030 BRTO FOF

e.-&abrﬁ@;o QeORY, sdrbsd f&cﬁ% B0

(A) E’Oeéﬁfao@ﬁ ét&@ 2366 LOGTI), VO
DR

(B) DCOSRODT TFT* 20 T 080° 8,007
(C) QT LT, DFEUODTEY,
(D) LOTT* WOT FTEI0T

Question Id : 49

xOeod wFeRY NH,, CHyNH, =032

(CH;),NH «mne @mzoe0dd ogeany D080
R
(A) CH;NH, < NH; < (CH;),NH

(B) (CH;),NH< NH, < CH,NH,
(© NH,< CH,;NH, < (CH;),NH
(D) CH,NH, < (CH;),NH< NH,

Question Id : 50
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51. The product formed during the following

reaction are

CH;
|
CH,- C —O-CH, +HI—>?

|
CH;

) CI,
|
CH,OH+CH;- C -I
|
CH,

(®) CH,
|
CH,1+CH,- C -OH
|
CH,

© CH,
|
CH,OI+H,C- ¢ -H

|
CH,

(D) CH:

|
CH,+H;C - ¢ -0I

|
CH,

51. BYBORE TIWOAZ 3,000 euoEndE 8,035

@"O% gﬁ%

CH;
|
CH;- ¢ -O-CH; +HI—>?
|
CH;

) CH;
|
CH,OH+CHs- C -1

|
CH,

(B) CH,
|
CH,I+CH,- C -OH
|
CH,

© CHx
|
CH,0I+H;C- C -H

|
CH,

() CHs;
|
CH,+H,C - ¢ -0l
|

CH,

Question Id : 51

Question Id : 51
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52.

53.

54.

55.

Reduction of ketones cannot be carried out

with which of the following reagents ?

(A) Sodium borohydride or Lithium Aluminium
hydride

(B) Zinc amalgam and concentrated HCI

(O) Hydrazine and KOH 1n ethylene glycol

(D) Hydrogen in presence of palladium in
Barium sulphate and quinoline
Question Id : 52
Gabriel phthalimide synthesis is used in the
preparation of primary amine from
phthalimide, which of the following reagent is
not used during the process ?
(A) KOH (B) NaOH

(O HCI (D) Alkyl Halides

Question Id : 53

The Glycosidic linkage present in sucrose is
between

A) C—1 ofaglucose and C—2 ofp-
fructose

B) C—1 ofaglucose and C—4 ofa-
glucose

(O C—1 ofB-galactose and C—4 ofa-

glucose
(D) C — 1 of a-glucose and C — 4 of B-fructose

Question Id : 54

Hormones are secreted by ductless glands of
human body. lodine containing hormone is

(A) Insulin (B) Thyroxine

(O) Testosterone (D) Adrenoline

Question Id : 55

52.

53.

54.

55.

O3 BFBOTW 3,0INTTFRI)  wVTodReN FeeRe’

mfs.;% COTIA RO mqﬁﬁmm@m& ?

(A) RReBODO d@d@@%%ﬁe ClomvillJlalevele)
CIOPRAVIVov]e RT,E

(B) 30T STRORF 30 T (]

(©) BT 1§, o YD FF2 w8 KOH

(D) JIRODOT  WTRIODY, FERRI T
?je@ojao wew 203 %KK@G@&G

Question Id : 52
PIORNTNVOT MW, e0NS* TORT FOFeRTo
DPOTOT T3, TEWB @dg@eﬁ% BO3R0OROTIN B3
TYFOT 8,0IRFITFIRT, WIROPOY,
(A) KOH (B) NaOH
(c) HCI (D) 8:965; & méejjzse nso

Question Id : 53

B8R, CASOTORW 1}, éfam@?‘ BRETHOIN
A) a~ ma@e S - 15333[3 w@@@ TS c—2

nY IRD
(B) q-TRBRTS ¢ _ 1 30 o—NRZRTT ¢ _ 4
nY SRS
(O) B~TVBRET’S (1 D) -NRERTT
C — 4 1% TS
(D) o~ NRBRETI C—1 ESREY) B—@@%@Nﬁﬁ C—4
nY IRD
Quesiion d 54
ENVRINENTY BeBTOTOB AR Y 0N

TORREFINYRY, F,0ROTH. oSReRTIY, BWP0HTOT
ToRREFD*

(A) DO (B) GO
(©) &é"ﬂ@d@g}dmes@ (D) 8839

Question Id : 55
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56.

57.

58.

59.

Pick the wrong statement from the following :
(A) Sources of Vitamin B, are yeast, milk,

green vegetables and cereals
(B) Deficiency of Vitamin B, (pyridoxime)
results in convulsions

(O) Consumption of citrus fruits and green leafy
vegetables in food prevents scurvy

(D) Deficiency of vitamin D causes

xerophthalmia
Question Id : 56
The monomer used in Novolac, a polymer used
in paints
(A) Phenol and Formaldehyde
(B) Melamine and Formaldehyde
(O) Butadiene and Styrene

(D) Butadiene and Acrylo Nitrile

Question Id : 57

Which of the following is not a biodegradable

polymer ?

(A) Polyhydroxy butyrate — C0O — p hydroxy
valerate

(B) pHBV

(O) Nylon 2-Nylon-6 (D) Glyptol

Question Id : 58

Bactericidal antibiotics among the following is
(A) Ofloxacin (B) Erythromycin

(O) Tetracycline (D) Chloramphenicol

Question Id : 59

56.

57.

58.

59.

FIBOTRINTE, EEsnla ée%oﬁomq noOTOER.

(A) éex;, TOLY, TATD ITFO 0) Wedd FYONRTE
AIRIASIS B QTOBT.

1 -0

(B) NVNT
SVOERNOZT

(C) ABX ﬁsaawmfo WBY TIT HSOINT STTONY
3eTI ARE dmeﬁd&z{ 35%@%}353(53

(D) DWT*- D 30030 FTReTY0D Tpen=)
SVOLIDTITEIZT

B, SRUSOWCT 3P R0

Question Id : 56

TeWOEFNYY, WIHOT JRVOF TITT* TYTOH
TRRRCTOT® 1D

(A) RETOT® T mﬁ:@r%ﬁéw

(B) OTRD* =02 @MF%@@

(C) WR,ERTOET* T §, 06T

(D) LR ERTFOET* 03 T, e Fi3,

Question Id : 57

FYFOT 0053 TITOT® BT TP BROTOFHY, ?

(A) TOFES, WOHIT o — B FES
moTees

(B) PHBV

(O) YOT-2JT-6 (D) N

Question Id : 58

T3 FIBTOW CINT  BeRITRCTTR) apR-jeelenty
JoTTNG ?
(A) WIRFRT
(©) BRI

(B) OTR, AT
(D) BRETOQITO®

Question Id : 59
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60.

Pick the correct statement among the
following :

(A) Cetyl trimethyl ammonium bromide is a
popular cationic detergent used in air
conditioner

(B) Non-ionic detergents is formed when
polyethylene glycol reacts with adipic acid

(O Sodium dodecyl benzene sulphonate used
in tooth paste is a cationic detergent.

(D) Sodium lauryl sulphate forms an insoluble
scum with hard water.

Question Id : 60

60. TYBOBRNTES) FOOTRT mgéﬁsoi)mq noTOER.

(A) FOTIITRONYY, AEL® 8, QTP &R0
R, ERTIY AOTRT TN 5, L3030
DRWF TN LFRITIT.

B) T SHFPOT 1§ 5o WRIT STROON [EF 2
BOIRAT BQT mmrswm wommméd.

(0) BREEOI0 cﬁrac%eﬁ WISt B eiraese@s?b L3R
wm mfé T @somaas mursmﬂ mma@c"’

(D) REROD0 Uad@s mi’ew NE30 VeI RodN
RS BNOCOD 595 @5353 0830 TR,

Question Id : 60
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